o Areich marciad.

8+7= 4+4=
6+5H= 7+7=
8+5= 8+3=
O+6= B+2=
2+2= [+6=
8+4= 9+9=
4+3= 6+3=

Blwyddyn 4
Wythnos 1

Fy sgor oedd....

A




Enw

o Arelch marclad..

Blwyddyn 4
Wythnos 2

B+b=

7+3=

4+4=

6+4=

7+6=

8+6=

3+3=

O+2=

O+8=

B5+4:=

6+3=

8+2=

9+3=

8+8=

Fy sgor oedd....

A




Enw

o Arelch marclad..

Blwyddyn 4
Wythnos 3

Q+3=

8+8=

4+3=

6x7/=

9+7=

7+2=

6x6=

7x8=

6+b=

7+7=

7x7=

0+8=

b+b=

3+3=

* Fy sgor oedd....

A




Enw

o Arelch marclad..

Blwyddyn 4
Wythnos 4

4+3=

2+2=

6+2=

8+b=

Q+4=

9+6=

8x8=

8+3=

B+3=

H+2=

8+8=

9+5=

6x6=

8+4=

* Fy sgor oedd....

A




Blwyddyn 4
Wythnos 5

Enw

o Arelch marclad..

7+6=

B+3=

5+4:=

6+2=

9+2=

7+2=

8+6=

3+2=

5+H=

8+5=

8+4-=

9+6=

4+4-=

2+2=

* Fy sgor oedd....

A




